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First Question

Choose the right answer after reading the passage:- (19 degrees)
The flying Doctor

Jon Flynn was born in Australia in 1880. John left the city of Melbourne
and went to work in South Australia. They built a number of small hospitals
and found nurses to work in them. But at that time there were only two doctors
in all of South Australia. One story Flynn often told was of jimmy Darcy. One
day Jimmy had an accident on his farm so friends took him to see F.W.
Tuckett, who worked at the post office at Halls Creek. It was a journey of 22
Km. Tuckett was the only person in the area who knew anything about
medicine. He tried to help but Jimmy was too ill. Tuckett finally talked by
radio to a doctor in Perth, a city 1500 Km away. The doctor took ten days to
arrive. He travelled by car, by horse and on foot and when he arrived, he found
that Jimmy was already dead.

Flynn saw that planes could really help people in the outback. He wrote
about his idea for a ' Flying doctor ' in 1917 but it wasn't until 1928 that one
actually took off. By the 1930's there was a Flying Doctor plane in every part
of Australia.

1 — What does Flynn tell us about Jimmy?
a- He lived at Hall Creek
b- He was a farmer
c- He was often ill

2 — Why did Jimmy and his friends go to see F.W. Tuckett?
a- He helped sick people

b- He worked at a post office

c- He was a doctor

3 — What did F.W. Tuckett decide to do?
a- to give Jimmy some medicine

b- to go with Jimmy to the city

c- to use a radio to get help for Jimmy

4 — What do we know about the doctor from Perth?
a- He travelled too slowly to save Jimmy

b- He had problems with his car

¢- He didn't know the way to Halls Creek

5 — The first Flying Doctor plane in
a- 1917
b- 1928
c- 1930




Second Question

Text Book:-
2 —1— Choose the correct word for the underlying word:-

1 — Californians are aware of the threat of earthquakes.

(17 degree)

a- Conscious b — ignorant ¢ —incorrect

2 — The possibility of life existing elsewhere ir the universe is intriguing
to many scientists.
a —ridiculous b — interesting c —resist

3 — To make sure the names were chosen by chance, the computer was
programmed to list them at random:.

a — without order b —in order ¢ —hung
4 — Sugar has a detrimental effect on your teeth.
b - harmful

5 — The condition of the building deteriorated because the tenants did not

a— harmless ¢ — weakening

take proper care of it.

a — worsened b -- improved ¢ —need
6 — The drought altered conditions for the farmers.
a—improved b - changed ¢ — disease

7 — The experiment had consequences that were not anticipated

a — causes b — result ¢ —mild

8 — The astronomy class studied the sun, the moon, and other celestial
objects.

¢ - basic

a — heavenly ¢ - imaginary

2 -2 -Match_the terms with their meanings:-

1 — biochemistry
2 — hydrous

3 — thermostat

a — condaining water

b — process of losing water

¢ = study of the composition of plants and
“animals

d — device for regulating indoor temperature



2 — 3 — choose the sentence which support the proposition

Alcohol is dangerous for drivers

a— Alcohol is addictive

b — Alcohol impairs judgment

¢ — Alcoholics build up a tolerance for increasing amounts of

alcohol.

2 — 4 — This statement is deductive or inductive and explainy

a - All student are lazy.
b - Every one here is a student.
¢ - Therefore, everyone here is lazy

2 —5— Arrange Items:-

The heart pumps blood through the human body.
.............. The oxygen rich blood returns to the left side of the heart
...... 1........ The right side of the heart pumps blood into the lungs
............... from the left side of the heart, the blood is pumped out to the
rest of the body through the arteries and returns to the heart
through the veins.
............... In the lungs, the blood gives up carbon dioxide and absorbs

oxygen.

2 — 6 — Choose:-
1 — Metals are called reducing agents because they tend ..........
electrons.

a—losing b —to lose ¢ —lost

2 — 7 — Correct the verbs:-

1 — The houses of Parliament (build) ............. more than 150 years ago.




Third Question:- ( Grammar) ( 6 degrees)

Do as shown between brackets:-
1 — Drugs have become a big problem everywhere
(this sentence is ok or wrong)

3 — There was a long queue of people ...........coevvvvuenennn the bus stop.
(put a suitable preposition)

4 —1 can't run very far. I'm not(fit) (use enough)

5 — Do you do any sports? yes, [ play............ . (Choose)

a — basketball

b- the basketball

6 — 1 can't drink this coffee. Tt's too hot. (USE 100..vvenrennnn. to)

Fourth question :- Translate ( 2 degrees)
Modern societies need enormous amounts of power everyday for
heating, lighting and Industry. Most of this power comes from coal and

oil. we must find alternative sources of energy.

with my best wishes




